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Growth Rate of GVA at basic price at Constant (2011-12) prices (in %) *

Industry 2012-13 | 2013-14 | 2014-15 | 2015-16* (2;11:';;) (210;7;; (23;;3'19
I. Agriculture 1.5 5.6 -0.2 0.6 6.3 5.0 29
Il. Industry 3.3 3.8 7.0 9.6 7.7 5.9 6.9
Mining & quarrying 0.6 0.2 9.7 10.1 9.5 5.1 1.3
Manufacturing 5.5 5.0 7.9 13.1 7.9 5.9 6.9
Electricity, gas & water supply 2.7 4.2 7.2 4.7 10.0 8.6 7.0
Construction 0.3 2.7 4.3 3.6 6.1 5.6 8.7
lll. Services 8.3 7.7 9.8 9.4 8.4 8.1 7.5
Trade, hotels, transport,
communication & services related to| 9.8 6.5 9.4 10.2 7.7 7.8 6.9
broadcasting
Financial Services, real estate &| 9.7 11.2 11.0 10.7 8.7 6.2 7.4
professional services
Public administration, defence and| 4.3 3.8 8.3 6.1 9.2 11.9 8.6
other services
GVA at basic price 5.4 6.1 7.2 8.0 7.9 6.9 6.6
*:Third Revised Estimates, RE :Revised Estimates, PE: Provisional Estimates
Sectoral Share in GVA at basic price at current prices (2011-12 Series) (in %)**
201516* | 2016- 2017-18 | 2018-

Industry 2011-12 | 2012-13 | 2013-14 | 2014-15 17 (2nd | (1st RE) | 19

RE) (PE)
I. Agriculture 18.5 18.2 18.6 18.2 17.7 17.9 17.2 16.1
Il. Industry 32.5 31.8 30.8 30.0 30.0 29.4 29.3 29.6
Mining & quarrying 3.2 3.1 2.9 2.7 2.3 2.3 2.3 24
Manufacturing 17.4 17.1 16.5 16.3 17.1 16.8 16.4 16.4
Electricity, gas & water supply | 2.3 2.3 2.5 2.5 2.7 2.5 2.7 2.8
Construction 9.6 9.2 8.9 8.5 7.9 7.8 7.8 8.0
lll. Services 49.0 50.0 50.6 51.8 52.3 52.7 53.5 54.3
GVA at basic price 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0

*:Third Revised Estimates, RE :Revised Estimates, PE: Provisional Estimates

CDS-2013

Which of the following occupations are included under secondary sector as per the national income accounts?
1. Manufacturing 2. Construction 3. Gas and water supply 4. Mining and quarrying

Select the correct answer using the code given below.
A1,2,3and4 B.1,2and4only C.1,2and 3 only D. 3 and 4 only

CDS-2013

Which one among the following is a tertiary activity ?
(a) Farming (b) Weaving (c) Manufacturing (d) Trading

CAPF-2011

Which one of the following types of economic activities dominates in all rural settlements?
(a) Primary (b) Secondary (c) Tertiary (d) Quaternary

NIOS

Which of the following sector used to have larger share in India’s GDP at the time of its independence?
a. Industry b. Agriculture c. Service d. None of the above

CAPF 2017

To which of the following sectors of the economy, activity of agriculture and services belong to ?




